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QUESTION 1

When data is written to a snapshot, volume is stored . (Choose the best answer.)
A. on the base volume for that snapshot

B. on the repository area associated with the snapshot\\'s corresponding image

C. on the repository associated with the snapshot volume

D. on the common repository for the snapshot group

E. on a hot spare drive

Correct Answer: D

QUESTION 2

What is the “base\\' host connectivity provided by the E2600 controller? (Choose the best answer.)
A. None

B. 1B

C.iSCslI

D. SAS

E.FC

Correct Answer: D

QUESTION 3

With a system cache block size of 32K, how much cache space per I/O is "lost" if incoming I/Os are all 48K writes?
(Choose the best answer.)

A. 24K

B. 8K

C. no space is lost
D. 4K

E. 16K

Correct Answer: D
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QUESTION 4

Review the diagram.

Is this cabling correct or incorrect, and why? (Choose the best answer.)

A. The cabling is incorrectbecauseeach controller goes to only one stack of disk shelves
B. The cabling is correct for the dual stack cabling method

C. The cabling is incorrect because it uses the top-down bottom-up cabling method

D. The cabling is incorrect because the controllers are cabled from the host port.

Correct Answer: B

QUESTION 5

What system file is used during the controller start-of-day sequence to determine various SCSI parameters and other
host-type specific settings for an E-Series system? (Choose the best answer.)

A. Major Event Log

B. ESM Firmware

C. NVSRAM

D. Unreadable Sectors Log

Correct Answer: C
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